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Topic:- General Hindi

1) AR @ S a=meRT 3
1. U] oI

2. 9g B

3. iddl

4. 7] hIcg

Correct Answer :-

2) “faur ufvwe” & 3Rieh & T Hed 22
1. LEGAL ASSEMBLY

2. STATE ASSEMBLY

3. LEGISLATIVE ASSEMBLE

4. LEGISLATIVE COUNCIL

Correct Answer :-

 LEGISLATIVE COUNCIL

3) fier s1fadm =g 3:
1. UR=a1
2. RfAET
3. 9918



Correct Answer :-

4) 3So9° P! Wl dicil A FT Hgd 2
1. SICHL, AT B T

2. ] ARBR T, YR SR o T |
3. FCHT AR T, Uil G|

4. FCHT R T, Ul G o a1l

Correct Answer :-

. JCTH ARG eI, 41T G of AT

5) ‘U A A I W FaTe A JR &, I8 a9l R At w13 21 s A A S 13 P
forg wEt geTaR Y TsUl

1. forEt o1 dee].
2. TSt BT R
3. TEt &1 gaen
4. DTS BT I,

Correct Answer :-

3. ®H Aed
4. FR1®M

Correct Answer :-

7) 379 q P T T, HETHTA 872
1. AETHRA
2. TRIERT



3. qH
4. TYSTET

Correct Answer :-

o HeIHRd

8) frufufad fy o ST WA arR ghm :
Sl AT TE WL |

1. HTH B TR

2. BTH DR adll G|

3. HU dTd G

4. GRATI 81 HTH B arell|

Correct Answer :-

. HHM Tl WA

9) Fufafeaa wva area &1 iy are ghm:
gt faendf awa g g1”

1. e faemdf 9wa g1d 81 |

2. gt faf 81d § 3IR a1 gt wohel 81 &
3. TTeY 3R I a faanlf sr=y 8Ia &

4. S gt fagndf gid 8, 1 €1 9wd Bld B |

Correct Answer :-

. o Ored faemif g1d &, 3 8 IwA sId B
10) g dfREAi A P AT 2

I T 3Fd Hgi g UTa |
o 3fE SeTe B Ut gfy s O ema il

1. QA ™
2. IR
3. Yfda |
4. AR Y

Correct Answer :-



11) ufyeft T P i P M E !
1. Hf&Telt, HHRSHL

2. AN, graalt

3. 3radl, gl

4. FATSY, ARaTSt

Correct Answer :-

. A, graa

12) e iR wers @1 ordf foral:

1. e &1 SR 3R dw et a1 g Bt el
2. FaA o1 o1 SR TS a1 UTg Y et
3. RaA o1 7= iR dar st ar urg Pt el
4. I ST I 3R AH Sl AT UG DT <t

Correct Answer :-

. e w1 Hrd 3R A el ot urg Fi <t
13) WU 3R TR &1 314 :

1. 3 3R a%d

2. T 3R FST

3. T 3R Fal

4. O 3R o

Correct Answer :-

. WY 3R TH

14) TH $T A1 F1341:

IR 3§ B 36 T g

3R 3T ot aif¥rer R o= B R, I
3R 3o ot aiftre 5= uTa Ft SielRR, I
1. YR



2. AYHE T
3. ¥igd 3T
4.3 3T

Correct Answer :-

15) wﬁqg%a@awmﬁmﬁ%aa@wﬁaﬁMﬁwmﬁﬁmﬁ
|

1. freftepor a1 Hemo
2. Gigreien T a1 qeiyor
3. Y& AT AN BRI
4. UCRAaH 1 T

Correct Answer :-

. Tferfeor ar gemu

16) fe<! sarHvur ¥ AR & 9 fraer wies g2
1. Hearguy

2. ApIad

3, Ucdia
4. TR

Correct Answer :-

17) 3fABR BT ATH Id1U:

&1 qafg = dfean, 99 & arft afv
39 & Id BT U4, Blef dvgl a1
1. Jfa=RNfad bR

2. 3NN SABR

3. A DR

4. YifdH PR

Correct Answer :-



18) 3HTIPR BT ATH IdC:

P g 8 50 3 gt TR B ot g awl |
fraeiR eTaq & gU ot dgi oIg siei U & WAt |
1. 3Nfad AdR

2. SUHT 3ADBR

3. IohIfeRT SADR

4, TUDH ADR

Correct Answer :-

. TohIfad DR

19) 3 Uferal ® S 1 ST T 8:
RIS G 7T A Vg Y[ URAT
T YHT A eIl SaaAdl ghrRe | 1"
1. U=1G 707

2. HIYY 0T
3. 311l U1

4. 4R

Correct Answer :-

20) 3 Ufeaal ¥ &9 A1 1A T §:
o fHfeT Ty Y g |

Pgd a9 I W g I 11

1. U1 70T

2. ATegd Tqor
3. 311l 70

4, Mfad g

Correct Answer :-



21) FYT BT UATgATH Xeg FIT 32
1. a4

2. M

3. Hg

4. forg

Correct Answer :-

22) dor F134d &
1. et T, s

2. fadies, Syl SR
3. fadie, Smywur, 3831
4. fad®, fept, e
Correct Answer :-

23) Ugad H B T JHN 32
1. TYSY G

2. 9gsilfe TA™

3. HHYRY TH

4, fg gurg

Correct Answer :-

24) 3 BT YGIAAT Usg FT 2?2
1. 3TS®H
2. 9d&d

3. 341

4.9

Correct Answer :-



25) ‘FHWR-Ar g Aoft F gE-FuE:
1. FRY® - e gm

2. 91 - FRd% g

3. qatgard g™

4. Tt gm

Correct Answer :-

. fRId gy

26) “Hfa ST A 991 e &:
1. T

2. e

3. gfduel

4. gferagy

Correct Answer :-

. Yfcraer

27) e &1 amRIe faure ghm:
1. T =T T 31t ot

2. 9 A1 ara srufq Raga

3. oI A5 aTeT S s

4. 9 =31 arar siufq R

Correct Answer :-

28) il TR &, A S -TEY BT WIYRT qTRT SHI:
1. TRSH 9T SR g1 |

2. TR aTd SREd 5 |

3. TR aTdl SRR g |

4. TTORH aTel SR o1 |




Correct Answer :-

« TROM 9T SId T8l |

29) ‘INad BT B fHa Joft & smar @2
1. GHD BT

2. G B

3. oMl

4, UETHT

Correct Answer :-

30) “WANTRITAT HT AHTRIS 3978 ghm:
1. T & forg Srmran

2. TN o forg =mmar

3. TRINT o foTT Ut =iTedm

4. TN & forw ye=men

Correct Answer :-

. TRINT & forg =

31) FU YT A T V<5 &
1. 3R3fe

2. ffsaa

3. 3R

4. 3

Correct Answer :-

32) T4 = 319 AT Bl T JE FUR:
1. AT 7 319 31T IST°
2. T 71 314 ST ger

3, T 9 3119 3T WP



4, <99 9 3T 3 <gr

Correct Answer :-

o /I 31 3 Cgr

33) “HI A @1 A AL HA & ¢ wgr &) fuy ara & gear:
1. | 1 761 ¥ $el [ 98 el R |

2. F A %g1 o a8 et R

3. 31 A |l 9 Fg b a8 Al Hr |

4. 341 4 $gl fdb ag I dr a|

Correct Answer :-

o« AT XE Y Fal fb a8 I R A
34) T P AA E:

1. 3TH Y BIs 78!

2. B%d® =

3. P, fbaRT

4, ATATE, AR

Correct Answer :-
. TEEAR
35) ‘dRT B e BT L FU B
1. ‘IREd Bt fISHP
2. ‘dRea & Raagh
3. ‘dRed @ RSk
4, <3P HI TS

Correct Answer :-

« ‘IRTd P Ragsr

36) ‘TPl § g PT BT &:
1. T 3R Th TR

2. TP AR TH @



3. T 3R Th RS
4. T 3R U IRE

Correct Answer :-

. U% 3R TP WRE

37) ‘U UY ) HIol YeTax BT A 3:
1. T &M 9 fagramy

2. THh BT B AT GERT BT Y g1 71
3. T B I TS gl

4. U U § Ryth U g1 b1 gl

Correct Answer :-

« TP B dXd T9T GERT S ot g1 S

38) SHI-UgaT’ gHS Uit & Xeg - JH T :
1. FRY® - e gm

2. e - % g

3. qafgard g™

4. fadt g

Correct Answer :-

39) Rmamew & f§ d Frwed 82
1. DIRECTRATE

2. PARLIYAMENT

3. SECRETARIAT

4. SECREAT

Correct Answer :-
o SECRETARIAT
40) 3T B! Wl dieit § T Hgd o

1. 3xdd, iferes dJIJ, TS




2. 39T, {TfcIeh, Ao

3. 34, qivfere OhIJ, o

4. 3G, A1 BT, TS

Correct Answer :-

e 3d, qivfere OfJIJ, 3T

41) T U ) A A U 3R 2 T U gz #1 I« S

FE g% Udd 9Sdl &, HE] AST § U
YT & ARY # 79 3,99 1 WS arit
MM G STARI |

$oUTd 3T TS JI9IRI |

P9 AR AR YRl B TR SRRRT
SiAT 8 @t 7RAT W), IS IS U ART
HRT ¢ §HRT |

Y — T YR A Hfd BT 71 a1y 82

1. 1Y ROl ¥ a1 aeqd Aida-go [l 9 g it St =ifad &1 4d U G|
2. Y RoT ¥ Hfa o1 a1y fdq-dst Uepfa T 8 S ot wifad &1 4a gU B
3. TN ROT ¥ i o7 Iy AfFa-go YR A g S 3ot Wfad &) Y gU B
4. T YR W Hfd o1 I1eqd g D 3|

Correct Answer :-

. TGS Y B BT I Aad-GsT HRAET A & O 3o Tifekd & 4 U Bl

42) 39 UL ) A | U 3R I fAT 71 yxA #5713« 3

81 gfc Udd Sl &, B! ST & U
HIYT & TRI # T4 8,9 &t W} ot
3T T &f 31 AR A
SouTd 3T TS TR |

F9 AR A Yol HF I IRRT
SHET B <t 7RAT WE), IS 3 U8 ART
HRT ¢ §HRT |

Y - Y oI & R a1 Jed B v @I R?
1. Bfd o4 & oIt TR oM &l Hg @1 8|
2. Hfq SfH & 1T 9 38 &1 Hal I &1 Hg T ¢



3. i S & forg ITueRlt HRA &) Far kg &) FE WR|
4. g o1 P o 3 Sfere™ B Y ol Aras B B W 8|

Correct Answer :-

. B3 & T 3T sferg B 1 w1 TG Bl HE /T8l

43) 39 UL ) 4 | U 3R I fAT 1 yxq #13wR S

8] g¥6 Udd a4l o, Bl Al ¢ Ul
YT & 9RI § 79 3, 79 &1 TS} ari
3T T &f 31 AR A

gouTd 3T T8 SRl |

T ST WA YRl HE R SRRRT
SHT 8 ) wRAT I S 36 98 ART
HRT ¢ AR |

UY- 39 piaar § fr9 IHxme IR U= STd1 71471 82

1. ém?ué?ﬂtr%ﬂma%uﬁaﬁw HTYRR He-HTg, JeTifa T Traferd THErel UR UeeTel STel
T g |

2. ?@‘Tuﬁn%ﬁmwﬂaﬂw, HTYTRE He-HT, JoTifa T THeferd THETS UR UehTT ST T
|

3. %ﬂ?ﬁﬂﬁfﬂ?ﬁmﬂﬁaﬁw, HTYRT Ye-HT, IST-Td T THaferd THETel UR UesT<T ST T
|

4, g%{maﬁué?ﬂuwﬁm,wﬁﬁw, U He-HTd, JSTiTd O Taferd THETS UR UehT<T STl 7T
|

Correct Answer :-

. gmﬁﬁ?ﬁnmm,wﬁﬁaﬁw,uwﬂa-m,mﬁﬁwmw&ﬁwmmw
|

44) TY UL &) A 4 U 3R - f3u ¢ yz 13wk 3

FE] g Udd 9T g, FHl aST g U
YTYT & AIRT # 79 8, 74 1 WSt I
SN e gl ST ARI |
$ooTd 3T 75 AR |

F9 SR AR Yol B TR SRRRT
ST Y At IR R, o IS 98 ART
ART & §HRTI

UY — 39 Hiadr o1 e w1 22



1. TR Tl
2. TP Tepall
3. P Uebel
4. AT Tl

Correct Answer :-

45) 39 U &) M 9 U¢ 3R - f3T ¢ yz1 13wk &

T8 g Udd 9T g, Bl aST g U
YTYT & ART # 74 B, 74 1 WSt I
MM G ST ARI |
SoOTd 3T 7T AR |

F9 AR AR Yol B TR SRRRT
ST Y At w3, o IS 98 ART
ART & §HRTI

Y- 39 Hiadl T g HTd T 82

1. 39 BT BT Y UG 2 F O SfereH g1 T 3|

2. Y HIdal BT HId & Hl dgrar ¢ g |

3. 39 BT BT He HId, MU HIETRT 3R MU FHY ) Serar a1 2 |
4. Y Hiadl BT ol HTd MU TS 3R TH B! S¢ral S 8|

Correct Answer :-

. 3T SN BT H HId, M HIEART 3R 0 GHE ) Serar S 2|

46) 39 T B! A9 A U 3R = 2w 78 yzq #13wR ¢

P AN TSI 8 fp SR 3R wadzrar # faRiy B, forrg arvaa o a5 YW 81 SR & §RT
TacraT {51 T81 ST, afewp gl &Y WadsrdT B I8 giell ¢ | ISP W 9o & fo1¢ g9 @l wWad
T, 88 9l TR § o Tfe T fhg a1e ot g du A off 7a 9o 31 599 89 A g Ui Wde
o g1 8, gl 3 Wemar ot Sia 71 faemdf ura & urdt fHufar 81 3= srg=mas & 1on @
3T 3t A HAT AT, PR T URT & 9= YA Heet b |

Y- BH TSP W Idd §Y 3U YU Yhe H A STAd & 2
1. TSH & AR I HR GH 30 UT0T Adhe & SAd ¢ |



2. S & §id H Tl D gH 310 UT0T Yobe H STeld 3 |
3. ISH & oI H I B gH U U107 Ydhe A el STad ] |
4. JSH TR I B g 30 UVl Yhe H STad & |

Correct Answer :-

. TSP & dId T I DR gH U U Febe H Sed o

47) TH I 61 A A U¢ 3R 2 Y 70 g7 F1 IR &

F3 AN A 2 f SR SR Tadwar A faiy 8, frg araa o 98 YW 81 SR & gRT
T {51 =1EY oIrell, afeer gl 3t Tad=ar 3t & Bl 31 TSP R Ia- & fore g0 @i oA
2, o0 arff R J FerHr w1 forg are ) g9 aig § off Ta Id €1 399 89 3re €1 Ty Hhe
W BTad €, gER) 3 Wemar ot S48 faendf wra & wrdt fHufar §1 3= 3= & 1o @
Ty 3t | HAT AR, O 3 URd & T GYd SHedr I |

UH-SU e TTeri= $1 Sfua v forfam
1. 3T HT A

2. 3R & g

3. SRR

4. 3N

Correct Answer :-

48) 3 T B O | U¢ 3R TR T My F13=w &

$3 AN A § f SR SR Tadwar A faRly 8, frg araa # a8 yW 81 SR & gRT
T foe 81 ST, Sfetn gl a1 Tadsdr $i 1 gl 81 9$% W gaH & fIY g @ wdd
g, e arff TR [ ga- AT frg Are Y g0 i ® off Ta Iod &1 SUN 89 3ru= & uTur Tdhe
o STad €, gOR1 Bt Wemrar W Sa § 1 femdf wra & urdt fAufar 81 3= srg=ma= & Ton &1
RT3t |/ FHAT AR, o 3 URA & = YA Haelt Tb |

Y- 5P W gH fov ok aar anfge?
1. 9% W gH Heury W ol dlgu|

2. 9P W gH il IR da1 =1y

3. 98P TR gH WIaRT ShIRAT IR IaT 91|
4. 3P W g Il TR o A1y



Correct Answer :-

. ISP W g IR TR a1 A1y

49) 3 T &1 A A U¢ 3R 2 R My F13wR &

P AN G 8 fp SR 3R wad=rar # faRiy 8, forrg araa o ag YW 81 SR & §RT
T 5 81 AT, afees guRl 31 Fadard1 Bt T §idl 81 S W Ia- & fo1g g9 @i wad
2, 88 9l TR { IoT T1fe T fhg 918 ol g S A off 79 9o 31 599 89 A g Ui Wde
o s1ad 8, gl 3 Wemar ot Sia 71 faendf ura & urdt fHufar §1 3= srg=mas & 1on @
3T 3t A FeAT LT, o d URT & 9= YA Heer Tb |

Y- URd & HTdl Fafar s 82
1. HRA & 3relia & Fafar faemif &
2. YR & rft formfar faeneif &1
3. HRd & urdt fafar R g1
4. YRA & Y1dt fafar faendff g1

Correct Answer :-

. YRd & Hid Fafar faemdf g |

50) 3 el B &4 A U¢ 3T - few e uwq #13«R &

F3 AN 9HF § fp SR SR Tadsar A faRiy 8, frg araa o 98 YW 81 SR & gRT
T {5 81 ST, afer el 3 Tadsar $ g1 gl 81 gse W ga & e g @ wdd
2, 0 ariff R I gerT 71 forg are O g9 dlg § off Ta I d €1 399 89 3rH €1 W Hhe
o 3Tad 8, O™l @1 Wazar W Sd €1 it ura & urdt frufar 81 3= sra=mas & 1o 1
S 3t A HAT AT, R 3 URA & 9= YA Hed1 & |

wy- faemdf uRa & T= Iy FA A2

1. i I & yff s YR & = IYd &9 IHd B

2. faemdff srenfiyd femmraf sromer YRd & I= 9Yd &9 Ihd B
3. faemdff o= feaat s YRd & MRS &9 I d 5|
4. Tt srg=nfa TEaaf soATeR URd & 9= 99 &9 Ihd ¢ |

Correct Answer :-

. Taemff srenfa feq=mt s HRd & U= 9Yd 99 9hd & |



51) HIMTUH aeTg e o= g3l
1. HTT-HTS

2. T

3. 7O

4, H[hT[

Correct Answer :-

52) HTYT % o1 U BT YT HILROT S=TdT 3107 THE! 3R TR & et & I T hgd 82
1. St

2. XY HTOT

3. 4T

4, TSTHIYT

Correct Answer :-

53) IR d4@- $Yd 9HY ¥ q1d &1 = 76:
1. YT U4 foaR} &1 TR 81 ¢

2. BT T YN S TR BIS G

3. Y19 U4 fdaR| & TRERI B8 < |

4. i U4 faaRI &1 gRIGR 8IS ¢

Correct Answer :-

. Y T4 faR 3 gR1gRy Bis 3|

54) «3{TST BT T THTAR & |” BT Y a1 &
1. 3T & I GHER § |

2. TS &1 I GHERI ¢ |

3. 3T T THTER g |

4. 3T B! T GHER T

Correct Answer :-

. AP RTIAER G|



55) «FRT T St o 4TI BT Y I ©:
1. TR O Sit 31177

2. W fOar st |

3. AR Yidr sft S|

4, T e Sit 3w

Correct Answer :-

. TR fOarsit s
56) “Ug I T R §1” &1 Y a1 3:
1. U 9 Uxil fIRA B
2. TS U ARA B
.U AT TS &l
4. Usi U ARG B

Correct Answer :-

. TSATFSA R

57) o1 avge & TP R UG I g1 TCT 8, I FT Hed 82
1. Ie19 fayra

2. 3ABR

3. ORI Yid

4,39

Correct Answer :-

« 30 fquE
58) B+ B HTH &:

o & T # Srendf A waft seAT AL
YIP T PART A B U= 81|
Y[ HTGT § YGS HIGHT URAT g1
A o forgq A H3t wAT AT Il
1. A B

2. 3D«



3. Hidd B<
4. MdPTB<

Correct Answer :-

. MdPTB<

59) B+ PT ¥ JdIgd:

fora =1a e afera o1 Maie SR # |
T UST HT I I FTFRRA Ul

1. e &G

2. gl B¢

3. didd Ba

4. TifdsT B¢

Correct Answer :-

. JAT1BE

60) Tfer 3R Tt o7 3 B:
1. eI SR AR

2. SfTGH 3R Sreft

3. HAC R Tt

4. gfcTaT 3R aeht

Correct Answer :-

. SfereM SR IR

61) T 3N a1d FT 34 fora:
1. = 3R gar

2. 9 3R gar

3. S99 3R gal

4, 91 3R g1

Correct Answer :-

. T 3R gl



62) T & foY TP e TATTC:
«ggd A YIITE J=A qre”

1. T HTST TS

2. §g HIS

3. §gd

4. UG

Correct Answer :-

63) AT & foIT Teh Weg TATST:
“ﬁqTWﬁRTE”

1. H

2.3}

3. 3fe

4, 3UdD

Correct Answer :-

64) CANCELLED

‘DIRECTOR’®! {&d} & w1 g &2
1. Fggrs

2. Adz®

3. fAcws

4, fRCT®

Correct Answer :-

65) I BT ATH Fdr3N:
I9-51-g@ FRIRA wrter, gf-gfs a9 gamaal
IRT R & elp, [ & Uy Pt go famafai

1. Ay XY



2. YA
3. B g
4, vfda

Correct Answer :-

o dlHA Y

66) PHTT I8 Hal Forad T gU eal b GRT:
1. A} 3R HIAT T UHTT STell STl B |

2. JIEHAT 3R FAIGT BT YHTG STl STl 5 |
3. HelHT 3R TG BT JHTd STl STl |

4, AT 3R TG BT THTT STAT AT & |

Correct Answer :-

o BT 3R A BT YHT STl STl 8|

67) Fafafea iR d s AT E:
THD FS1 G THTa- | 98 daarR [T A
dacl gRalal & @ gHA g1 dert A

Qe St Al g ot gt areft 3= A

1. I G

2. AIYH H

3. HFAIHRUT I

4. ARG

Correct Answer :-

68) ITERT &l Ut Hgl A YPTIRId gidl 282
1. §ieT

2. SR
3. Jat

4, Sdcfyr

Correct Answer :-



69) tRdl UG T UHRH el A glare?
1. STH A BIs T8

2. TEAR
3. 3MATETG

4.3GR

Correct Answer :-

70) Uceid P g1 AIRY, THTH Delt B A1 1 3rd: THH F1d] B! fadR 4 foraq &1
3Ty far 9rET 91fg el

1. gaddb et
2. ST Qe

3. SHTHS Qi
4. VTG et

Correct Answer :-

. Y A

Topic:- General English

1) Choose appropriate articles for the given sentence:

_____reportwas filedin ____ neighboring police station where the incident had occurred.
1. An, the

2. An, an

3. A an

4. A, the

Correct Answer :-

2) Choose appropriate articles for the given sentence:



Shopping for clothes proved to be traumatic experience for executive who went
shopping abroad.

1. a, the
2. an, an
3.3,a

4. a, an

Correct Answer :-

e 3, the

3) Choose appropriate articles for the given sentence:

In order to perform well, studying hour before exam is not advisable.

1. an, an
2. the, the
3.an,a

4. the, an

Correct Answer :-

4) Choose the appropriate preposition for the given sentence:

The flowers withered ______ the hot sun.
1. off

2. from

3.in

4. under

Correct Answer :-

e under

5) Choose the appropriate preposition for the given sentence:

llliteracy is an obstacle progress.
1. for

2. 1n



3. with

4. to

Correct Answer :-

6) Choose the appropriate prepositions for the given sentence:

This report contains an overview the current economic situation prevailing the country.

1. for, in
2. by, on
3. of, in

4, of, at

Correct Answer :-

7) Choose the appropriate articles for the given sentence:

The government plans to introduce law that will provide free entry into all temples in
south.

1. a, the
2. an, an
3.3,a

4. an, a

Correct Answer :-

8) Choose the appropriate usage to fill in the blank:

lliveafewyards ____ the bus stop.
1. away

2. off

3. near

4. from

Correct Answer :-



9) Choose the option that best interchanges the italicized word in its adjectival form.

The man is not having any courage.
1. The man is uncourageous.

2. The man is cowardly.

3. The man is not courageous.

4, The man is known to be cowardice

Correct Answer :-
e The man is not courageous.

10) Choose the correct form of verb for the given sentence:

We hope that the sunny weather ______ over the weekend.
1. lasts

2. should last

3. will lasting

4, lasted

Correct Answer :-

e |asts

11) Choose the correct form of verb for the given sentence:

Iwantedto______ the actor, but my car broke down.
1. be meeting

2. meeting

3. meet

4. have met

Correct Answer :-

12) Choose the correct form of adverb for the given sentence:



We all want a just government.

1. thoroughly
2. simply
3. perfectly

4. fully

Correct Answer :-
o perfectly

13) Choose the correct form of adverb for the given sentence:

I ate my lunch

1. goodly

2.in a hurried

3. with reverence

4. hurriedly

Correct Answer :-
e hurriedly

14) Choose the correct form of adverb for the given sentence:

____,itdoesn't matter.
1. Honestly
2. Truthfully
3. Gratefully

4. Abundantly

Correct Answer :-
e Honestly

15) Choose the correct form of adjective for the given sentence:

Ambition does not always conduce to happiness.
1. intimate

2. ultimate



3. big

4. great

Correct Answer :-

e ultimate

16) Choose the correct form of adjective for the given sentence:

Never be anywhere near Manjeet when she loses her temper; she can be very
1. brave

2. emotional

3. assertive

4, aggressive

Correct Answer :-
e aggressive

17) Choose the correct form of expression to complete the sentence:

The building is in a dilapidated _____.
1. situation

2. status

3. condition

4, position

Correct Answer :-

e condition

18) Choose the correct form of expression to complete the sentence:

This is a matter of no
1. use

2. value

3. importance

4, interest

Correct Answer :-



e importance

19) Choose the correct form of modal auxiliary verb for the given sentence:

Jenny ____ able to leave the hospital within six hours after he fell ill seriously.
1. was

2. can

3.is

4, is being

Correct Answer :-

20) Choose the correct form of tense for the given sentence:

| always for a walk every day.
1. went

2. am going

3. goes

4. go

Correct Answer :-

21) Choose the correct form of tense for the given sentence:

The child _____ since morning.
1. had cried

2. have been crying

3. has been crying

4. had been crying

Correct Answer :-

e has been crying

22) Choose the correct form of tense for the given sentence:



He ___ as he works because he is happy.
1. was smiling

2. smiles

3. has smiled

4. is smiling

Correct Answer :-

e smiles

23) Choose the correct form of tense for the given sentence:

This year we are visiting relatives, but next yearwe ___ our holidays at home.
1. had spent

2. will be spending

3. will spent

4. have spent

Correct Answer :-
« will be spending

24) Choose the most suitable determiner for the given sentence:

There's _______ice cream in the fridge.
1. no

2. most

3. any

4, few

Correct Answer :-

25) Choose the most suitable determiner for the given sentence:

color will suit you; you have such a good complexion!
1. Another

2. Neither



3. Either

4. Some

Correct Answer :-

e Either

26) Read the passage carefully and answer the question given below:

While the world is still debating the safety of self-driving cars, the futuristic city-state of Dubai, in the United Arab
Emirates (UAE), is preparing to launch an autonomous aerial taxi. Starting in July, commuters will be able to
summon the world’s first passenger drone, the EHang 184, to transport them to their desired destination without
having to deal with Dubai’s congested freeways.

The 142-horsepower quadcopter, which debuted at the Consumer Electronics Show in Las Vegas almost a year
ago, in January 2016, weighs 440 pounds and can fly at heights of up to 11,500 feet. Powered by eight propellers,
the four-legged, egg-shaped vehicle has room for a single passenger weighing up to 220 pounds and a small
suitcase. Though the aerial taxi can reach speeds of up to 100 mph, Dubai’s transportation officials say it will
typically operate at about 62 mph.

Riders can ask for the flying taxi to pick them up from designated zones using the company’s smartphone app.
When the drone arrives, he/she straps into the race-car-style seat, selects one of the pre-programmed destinations
on the touch screen, and sits back and enjoys the flight. To ensure the passenger’s safety, all flights are monitored
remotely by a control room on the ground.

In the unlikely event that any of the components malfunction or disconnect, the EHang 184 will make an
emergency landing in the closest possible area to ensure the customer’s safety. The drone is also programmed to
conduct complex calculations to ensure its route won’t collide with that of another drone. While having no control
over the remotely piloted vehicle may appear scary, the manufacturer, China-based EHang, says, “It is the safest,
smartest and eco-friendly low altitude autonomous aerial vehicle.” The only drawback? The EHang 184 has a
battery life of 30 minutes and a flight range of just 31 miles, which means that those with longer commutes are out
of luck. Also unknown, is the cost of each ride.

Question: Which of the following is FALSE about EHang 184?

1. It has a battery life of more than half an hour

2. It was first showcased in Consumer Electronics Show in Las Vegas
3. It weighs 440 pounds

4. It can fly at heights of up to 11,500 feet

Correct Answer :-

« It has a battery life of more than half an hour

27) Read the passage carefully and answer the question given below:



While the world is still debating the safety of self-driving cars, the futuristic city-state of Dubai, in the
United Arab Emirates (UAE), is preparing to launch an autonomous aerial taxi. Starting in July,
commuters will be able to summon the world’s first passenger drone, the EHang 184, to transport them to
their desired destination without having to deal with Dubai’s congested freeways.

The 142-horsepower quadcopter, which debuted at the Consumer Electronics Show in Las Vegas almost a
year ago, in January 2016, weighs 440 pounds and can fly at heights of up to 11,500 feet. Powered by eight
propellers, the four-legged, egg-shaped vehicle has room for a single passenger weighing up to 220 pounds
and a small suitcase. Though the aerial taxi can reach speeds of up to 100 mph, Dubai’s transportation
officials say it will typically operate at about 62 mph.

Riders can ask for the flying taxi to pick them up from designated zones using the company’s smartphone
app. When the drone arrives, he/she straps into the race-car-style seat, selects one of the pre-programmed
destinations on the touch screen, and sits back and enjoys the flight. To ensure the passenger’s safety, all
flights are monitored remotely by a control room on the ground.

In the unlikely event that any of the components malfunction or disconnect, the EHang 184 will make an
emergency landing in the closest possible area to ensure the customer’s safety. The drone is also
programmed to conduct complex calculations to ensure its route won’t collide with that of another drone.
While having no control over the remotely piloted vehicle may appear scary, the manufacturer, China-
based EHang, says, “It is the safest, smartest and eco-friendly low altitude autonomous aerial vehicle.”
The only drawback? The EHang 184 has a battery life of 30 minutes and a flight range of just 31 miles,
which means that those with longer commutes are out of luck. Also unknown, is the cost of each ride.

Question: Which one of the following options is the antonym of the underlined word ‘congested’?
1. Unblocked

2. Massed

3. Crowded

4. Jam packed

Correct Answer :-

e Unblocked

28) Read the passage carefully and answer the question given below:

While the world is still debating the safety of self-driving cars, the futuristic city-state of Dubai, in the
United Arab Emirates (UAE), is preparing to launch an autonomous aerial taxi. Starting in July,
commuters will be able to summon the world’s first passenger drone, the EHang 184, to transport them to
their desired destination without having to deal with Dubai’s congested freeways.

The 142-horsepower quadcopter, which debuted at the Consumer Electronics Show in Las Vegas almost a
year ago, in January 2016, weighs 440 pounds and can fly at heights of up to 11,500 feet. Powered by eight
propellers, the four-legged, egg-shaped vehicle has room for a single passenger weighing up to 220 pounds



and a small suitcase. Though the aerial taxi can reach speeds of up to 100 mph, Dubai’s transportation
officials say it will typically operate at about 62 mph.

Riders can ask for the flying taxi to pick them up from designated zones using the company’s smartphone
app. When the drone arrives, he/she straps into the race-car-style seat, selects one of the pre-programmed
destinations on the touch screen, and sits back and enjoys the flight. To ensure the passenger’s safety, all
flights are monitored remotely by a control room on the ground.

In the unlikely event that any of the components malfunction or disconnect, the EHang 184 will make an
emergency landing in the closest possible area to ensure the customer’s safety. The drone is also
programmed to conduct complex calculations to ensure its route won’t collide with that of another drone.
While having no control over the remotely piloted vehicle may appear scary, the manufacturer, China-
based EHang, says, “It is the safest, smartest and eco-friendly low altitude autonomous aerial vehicle.”
The only drawback? The EHang 184 has a battery life of 30 minutes and a flight range of just 31 miles,
which means that those with longer commutes are out of luck. Also unknown, is the cost of each ride.

Question: Who is most eligible to ride EHang 184?

1. Two people who are less than 220 pounds

2. A single passenger a luggage which combined weighs 220 pounds
3. There is no mention of this information

4. One person who is less than 220 pounds with a small suitcase

Correct Answer :-

e One person who is less than 220 pounds with a small suitcase

29) Read the passage carefully and answer the question given below:

While the world is still debating the safety of self-driving cars, the futuristic city-state of Dubai, in the
United Arab Emirates (UAE), is preparing to launch an autonomous aerial taxi. Starting in July,
commuters will be able to summon the world’s first passenger drone, the EHang 184, to transport them to
their desired destination without having to deal with Dubai’s congested freeways.

The 142-horsepower quadcopter, which debuted at the Consumer Electronics Show in Las Vegas almost a
year ago, in January 2016, weighs 440 pounds and can fly at heights of up to 11,500 feet. Powered by eight
propellers, the four-legged, egg-shaped vehicle has room for a single passenger weighing up to 220 pounds
and a small suitcase. Though the aerial taxi can reach speeds of up to 100 mph, Dubai’s transportation
officials say it will typically operate at about 62 mph.

Riders can ask for the flying taxi to pick them up from designated zones using the company’s smartphone
app. When the drone arrives, he/she straps into the race-car-style seat, selects one of the pre-programmed
destinations on the touch screen, and sits back and enjoys the flight. To ensure the passenger’s safety, all
flights are monitored remotely by a control room on the ground.



In the unlikely event that any of the components malfunction or disconnect, the EHang 184 will make an
emergency landing in the closest possible area to ensure the customer’s safety. The drone is also
programmed to conduct complex calculations to ensure its route won’t collide with that of another drone.
While having no control over the remotely piloted vehicle may appear scary, the manufacturer, China-
based EHang, says, “It is the safest, smartest and eco-friendly low altitude autonomous aerial vehicle.”
The only drawback? The EHang 184 has a battery life of 30 minutes and a flight range of just 31 miles,
which means that those with longer commutes are out of luck. Also unknown, is the cost of each ride.

Question: The best title for the passage could be:
1. EHang 184: An Ariel Taxi

2. The futuristic city-state of Dubai

3. Dubai’s transportation system

4. A flying taxi at your doorstep

Correct Answer :-

» EHang 184: An Ariel Taxi

30) Read the passage carefully and answer the question given below:

While the world is still debating the safety of self-driving cars, the futuristic city-state of Dubai, in the
United Arab Emirates (UAE), is preparing to launch an autonomous aerial taxi. Starting in July,
commuters will be able to summon the world’s first passenger drone, the EHang 184, to transport them to
their desired destination without having to deal with Dubai’s congested freeways.

The 142-horsepower quadcopter, which debuted at the Consumer Electronics Show in Las Vegas almost a
year ago, in January 2016, weighs 440 pounds and can fly at heights of up to 11,500 feet. Powered by eight
propellers, the four-legged, egg-shaped vehicle has room for a single passenger weighing up to 220 pounds
and a small suitcase. Though the aerial taxi can reach speeds of up to 100 mph, Dubai’s transportation
officials say it will typically operate at about 62 mph.

Riders can ask for the flying taxi to pick them up from designated zones using the company’s smartphone
app. When the drone arrives, he/she straps into the race-car-style seat, selects one of the pre-programmed
destinations on the touch screen, and sits back and enjoys the flight. To ensure the passenger’s safety, all
flights are monitored remotely by a control room on the ground.

In the unlikely event that any of the components malfunction or disconnect, the EHang 184 will make
an emergency landing in the closest possible area to ensure the customer’s safety. The drone is also
programmed to conduct complex calculations to ensure its route won’t collide with that of another
drone. While having no control over the remotely piloted vehicle may appear scary, the manufacturer,
China-based EHang, says, “It is the safest, smartest and eco-friendly low altitude autonomous aerial
vehicle.” The only drawback? The EHang 184 has a battery life of 30 minutes and a flight range of
just 31 miles, which means that those with longer commutes are out of luck. Also unknown, is the cost
of each ride



Question: The step-by-best procedure to ride EHang 184:
I. Sit back and enjoy the ride
I1. Select one of the pre-programmed destinations on the touch screen

III1. Use the company’s smartphone app and ask for the flying taxi to pick them up from designated
zones

IV. Strap oneself into the race-car-style seat
1. L OL IL IV
2. 1L IV, I, 1
3.0LIL IV, I

4. 1L I, IV, III

Correct Answer :-

e« IILIV,ILI

Topic:- General Knowledge

1) I am seventh in the queue from either end. How many people are there in

the queue?/ & fFfl 1t BR A FaR & ITad WM R §l FaR § $d faq safqa g2
1.13
2. 11
3.10

4. 14

Correct Answer :-

2) If the day before yesterday was Friday, what day will two days after
tomorrow be?/3fe dd ¢ T A Uga BT i IEHaAR U1, A M 918 el & &l flia & 91

P4 1 fa1 ghme?
1. Sunday/3fdaR
2. Saturday/IMaR

3. Wednesday/ gYdRR
4. Friday/[hdR

Correct Answer :-

« Wednesday/ d4dRR



If 4 then the value of x is:/ f¢
12

1,17

21

2. 17

13
3. 17
18
4. 17

Correct Answer :-

4) In the following question, select the related letter/word/number from the

%ggn alternatives./ fF=fefad uza A fow e fawenl A & Taf=a sigR/Rreg/€E &1
|

UNCLE : AUNT :: FATHER:?/ 94T ; 9=} :: fUar:?
1. Daughter/ 3t
2. Affection/@_s'

3. Mother/ A

4. Son/ A

Correct Answer :-
e Mother/ Af

5) In the following question, select the related letter/word/number from the

%ggn alternatives./ f=fefad uwa A few e fawenl A & Tafa sigR/Rreg/€B &1
|

42 : 20 :: 64:?
1.33
2.31
3.32

4. 34



Correct Answer :-

6) In the given diagram, parallelogram represents women, triangle
represents the sub-inspectors of police and circle represents the graduates.
Which numbered area represents women graduate sub-inspectors of
police?/ faT Y o #, FAMIMR agye afeenstt ®1 qxifar 3, Ay gfera & Su Fflars a1
aﬁmgamqaﬂmﬁaﬁaﬁm%l ST wHifPd & gfera # wfger Frae Iuffes ot
afar g2

1.13
2.3
3.5

4.8

Correct Answer :-
« 3

7) N is more intelligent than M. M is not as intelligent as Y. X is more
intelligent than V but not as good as N. who is the most intelligent of all?/ N,

M & ga-T § 3R g g1 M, Y A $if¥e gigaa i 81 X, v &t ga- d oiftre gigam
RGN I 331 181 81 9t ¥ g gfmm o 82

1.Y or N/Y 9T N
2. M
3.N

4. X

Correct Answer :-

« Yor N/YTTN

8) Which of the following is the smallest fraction?/f 1 o 3 e Bt i &1
Ht 82

g8 7 11 14
25'23'23'53



14

3. 53
11
4. 23

Correct Answer :-

14
o 53

9) Which of the following interchanges of numbers would make the given

equation correct?/fA # A PT-H @IS B Srgar-aqe w1 W faur war e
eI gRI?

8x20+-3+9-5=38
1.3,9
2.3,8
33,5

4.8, 9

Correct Answer :-

10) Which one will replace the question mark (?)? /= & ¥ &i9a1 u=A =g ()
o1 yfereTid H¥m?

1.1342
2.1191
3.2197

4. 1495

Correct Answer :-

« 2197



11) Players, father and mother can be represented by/ f@rs!, fUar 3R AT 1

9T T gedr 2|

.©
©po
Km>

Correct Answer :-

12) (2.697 — 0.498)2 + (2.697 + 0.498)2
The value of 2.697 x 2697 + 0498 x 0498 jg:/
(2.697 — 0.498)2 + (2.697 + 0.498)2
2.697 x 2.697 + 0.498 x 0.498 U FId Y|

1. 3.195
2.4
3.2

4. 2.199

Correct Answer :-
« 2

13) Solve the alphanumeric series given below:/ T & 75 sieRi® T Juft HI g
P

Z2, X5, U10, ?, L26
1. P17
2. P15

3.Q17



4. Q15

Correct Answer :-

14) If ‘STAGE’ is coded as ‘TUBHF’, 'STRANGER’ will be coded as ' "/
afe ‘STAGE’ &1 %¢ 811 'TUBHF’, ‘STRANGER’ &1 %e gl '

1. TUBOFSHS
2. TUSBOHFS
3. TUBSOHFS

4. TUSOBHFS

Correct Answer :-
« TUSBOHFS

15) If ‘black’ is called ‘red’, ‘red’ is called ‘white’, ‘white’ is called ‘brown’,
‘brown’ is called ‘yellow’, ‘yellow’ is called ‘blue’ and ‘blue’ is called ‘green’,
then what is the colour of blood?/ gfe ‘wrar aﬁa%?r%"m’, ‘drd’ Tﬁﬁa%
B8 © ‘G, I G BT H HT g1 82

1. white/ Tthg
2. green/ @xl
3. blue/ =T

4. red/ did

Correct Answer :-

. white/ g%g

16) If 20% of A = 50% of B, then what percent of A is B?/qﬁA Pl 20% =B
PT 50% g, df A &1 fhaarufazra B 82

1. 25%
2.40%
3.30%

4.15%

Correct Answer :-

e 40%



17) Gulbadan Begum had written Humayunama. She was Humayun’s - /

TAde 97 A GARATHT [Ra @) foram 471 98 g # &1 A2
1. Sister/ dg-

2. Aunt/ 3Tt

3. Mother/ |i

4. Wife/ Oat

Correct Answer :-

« Sister/ dgd

18) Ratio of Sujeet’s present age to Sameer’s present age is 4 : 3. Sujeet will
be 26 years old after 6 years. Then the present age of Sameer is:/ﬁiﬂ?r&?ﬁ

TR Pt TdT 3T BT 3JUTd HU: 4 : 3 81 6 T & 1¢ Foitd 26 T BT & JTE, o IR
Ft gdAT 3y fra-i 82

1. 18 years/18 a¥
2. 24 years/24 Gl
3. 15 years/15 ¥

4.21 years /21 @§

Correct Answer :-

. 15 years/15 9%

19) A sum of money at compound interest doubles itself in 15 years. It will
become eight times of itself in how many years at the same rate of interest

per annum? /T Y-RTRI Thgfes Aol B T F 15 TT A SR 81 SITell 8 1 g Iy fobaa auf
# 34t a1ffer samet <X | 8 T g ShE?

1. 60 years/60 ¥
2.54 years/54a15f
3. 48 years/48 T

4. 45 years/45 ¥

Correct Answer :-
e 45 years/456|13f

20) A started a business with Rs.45,000 and B joined afterward with
Rs.30,000. If the profit at the end of of one year was divided in the ratio 2 :



1 respectively, then B would have joined A for business after how many
month?/A 9 T& IR &I I=3ATd § Rs.45,000 B Yoil %1 $t 9T $© 99T 916 B
Rs.30,000 fa=1 $% 39 TR H 11 g Tl afe v ad & ofd ° 35 2:1 & Jurd & ary
TS 31 g1, <t B fhae 9wy a1¢ saruR & xnfia gan?

1. 3 months/3 Hig
2. 2 months/2 HIg
3.4 months/4 Hig

4. 1 month/1 HIg

Correct Answer :-
« 3 months/3 HIg

21) The cost price of 18 articles is equal to the selling price of 15 articles.
The gain percent is:/afe 18 TGN BT AN Y4, 15 I 3M & 4.9 .F 1R 3, O wfa=a
ATY [T Be

1. 20%
2.25%
3.18 %

4.15%

Correct Answer :-

« 20%

22) The Betwa river flows through the states of - /9ad1 A<} fp1 I & A 9

el 82

1. Only Madhya Pradesh/ ®%dd A& Ue¥l

2. Madhya Pradesh and Uttar Pradesh/ T TSR 3R TR U
3. Madhya Pradesh and Chhattisgarh/ 0L TG @T@T—ﬂw

4. Madhya Pradesh and Rajasthan/ A¢ UeT 3R ISR

Correct Answer :-
. Madhya Pradesh and Uttar Pradesh/ At TR 3R IR U xl

23) The LCM of two numbers is 1820 and their HCF is 26. If one number is
130 then the other number is: /3 T3 BT @.H. 1820 TUTH.H. 26 &| Tfe T A&
130 g, df gO¥ B J1d B |

1. 364



2.1690
3.70
4,1264

Correct Answer :-

- 364

24) In what time will the simple interest be 2/5 of the principal at 8 percent
per annum?/fhaa THT & 8% dIfYd =T BT G A ATURT TS, GAUH BT 2/5 TRN?

1. 7 years/7 G
2. 6 years/6 G
3.5 years/5 L

4. 8 years/8 G

Correct Answer :-

« 5 years/5 G

25) In a certain code RAIN is written as TCKP. How is CLOUD written in that
code?/ afe fadt fAfia e ¥, RAIN &) for@d € TCKP. 39 e #, CLOUD & & ferar

STET?
1. ENRWF
2. FNQWE
3. EMQWF

4. ENQWF

Correct Answer :-

26) Where is the Alkaloid Factory situated?/ Gﬁﬁﬁ%mwf@ﬁ%’
1. Dewas/ ¢dTd

2. Neemuch/ Citc]

3. Hoshangabad/ gIRETg

4. Itarsi/ 3R

Correct Answer :-

« Neemuch/ -HHd



27) A and B can do a piece of work in 10 days, B and C in 15 days and C and
A in 20 days, then C alone can do the same work in how many days? /A ddTB

TP PTH P! 10 feAi &, B 3R € 15 A A 91 € 3R A 20 & & ® J&d 8,41 C a1 39
ST Bl fhaq foal § @ Ham?

1. 120 days/120 faq
2. 60 days /60 &
3. 30 days/30 f&d
4. 80 days /80 fa

Correct Answer :-

« 120 days/120 f&a

28) When was the Satpura National Park established?/ 9¥dqsT I¥1T I P
RITIUT gaIm UT?

1.1979
2.1983
3.1985

4.1981

Correct Answer :-

« 1981

29) When was the Direct Action Campaign launched by the Muslim League?/

IETH A1 gRT Ue SIRATS PR %4 IRE Bar T U1?
1. 1946
2. 1944
3.1947

4. 1945

Correct Answer :-

« 1946

30) When was the World Bank created?/ fd¥ d& &« I41a1 7471 YT1?
1.1942

2.1943



3.1944

4. 1945

Correct Answer :-

« 1944

31) What is the capital of Jordan?/ SIS 1 IS T 82
1. Amman/ I

2. Baku/ di%

3. Accra/ 3l

4. Manama/ H-MHI

Correct Answer :-
« Amman/ HH

32) The Khajuraho temples were built entirely of sandstones, which were

brought from the present - / @W#ﬁ?mﬁﬁwqﬁmﬁa@mw@tﬁmw
T, S qAAH P | T T AT

1. Jhansi/ i
2. Panna/ G4l

3. Satna/ gd-l

4. Jabalpur/ SI§¢YR

Correct Answer :-
« Panna/ U4l

33) Two persons enter into a railway compartment in which 6 seats are
vacant. In how many different ways can they sit?/ﬂ’fﬂﬁwwwa?%@ﬁg'ﬂﬁ
2, Forad 6 e @relt 8 19a133 3 fovaq M- W R @ do T@d 82

1.6

2.12
3.30
4. 36

Correct Answer :-

« 30



34) The traditional folk-songs of Sanjha is sung by - / H‘@T%WW—W
5T g T 9Td 82

1. Married Women/ RIT¢IaT Afgasfl gRT
2. Brides to be/ I aTdl aY3fl gRT
3. Young Girls/ QHTFITS”W gRI

4. Young Girls and Boys/ Ja @Sf®al 3R T8I gRI

Correct Answer :-

« Young Girls/ gal @8fdal gRI

35) When did the Madhya Pradesh Government constitute the Madhya
Pradesh Agriculture Cost and Marketing Commission?/ A UG WRPR 7 g4
WX HY ARTd 3R fAYUH ST &1 o+ o far ur?

1. 2016
2.2017
3.2014

4, 2015

Correct Answer :-

« 2017

36) Narain Sridhar Bendre was a renowned — /- RTAU iR 9 UG O
1. Painter/ feF®R

2. Actor/ JfY=dr

3. Playwright/ AIch®R

4. Author/ T&®

Correct Answer :-

. Painter/ﬁ-ﬂ?ﬁ

37) The average weight of 15 men in a boat is increased by 1.6 kg, when one
of the men, whose weights 42 kg is replaced by a new man. Find the weight
of the new man (in kg)./15 T1f3d®! &7 3NTd 9o 1.6 fF.U1. ¢ wa1 8, 59 42 .
oI 9T TS ATfAP & I¢al Teb 4T ATfa e 3T ST 8, df 92 A1fde &1 asi= (7.1, #) yra & |

1. 67



2. 66
3.65

4. 43

Correct Answer :-

38) How many forest territorial circles has Madhya Pradesh been divided

into?/ fa 9= &g visal o wem wext & favnfoa P man @2
1.15
2.16
3. 14

4.13

Correct Answer :-

39) How many Mahajanapadas do the Buddhist and Jain literature present a
list of during the Mahajanapada Period of 600 BC - 325 BC?/ 600 éq -325

3.9, & HETSIUG $Td & R dl 3R oI Aifgd | foa- wgrerug 372
1.12
2.16
3.14

4. 18

Correct Answer :-

40) Sum of two numbers is 40 and their product is 375. What will be the sum
of their reciprocals? /3! SBT3 &1 AT 40 TUT ITHT UHET 375 B, a1 37 HapHI BT
R faam ghm?

8
1. 75



4,40

Correct Answer :-

41) For which of the following fairs does the group of devotees from all over
the world called ‘Jamaat’ come to attend?/ Fafefaa # @ #19- T da A wwa
TP Ul BT g fAyuR | 3mar 82

1. Fair of Barman/WWﬂFﬂ

2. Fair of Mahamrityunjay/ HeTIsr &1 Bal
3. Aalami Tableegi Ijtima/ 3fTeTHI daciivil SfoeHT
4, Simhastha/ﬁi@@l

Correct Answer :-

« Aalami Tableegi Ijtima/ 3TaH! deciivh Sfoqdr

42) Which of the following dance performance is dedicated to the deity

Ranubai and Dhaniyer Suryadev?/ fFafef@d & ¥ #19-31 7o ue=q & 3garg 8k
TR Eiea &t waffa 82

1. Badhai/ 9418
2. Baredi/ a¥al
3. Gangaur/TIUP'ﬁT
4. Matki/ Hea!

Correct Answer :-

. Gangaur/JIUJiR

43) Which of the following districts covers the area of the former princely

State of Jaora, Sailana and Piploda?/ fRafaf@d & & &i49- 31 forer sk, SamEr siv
frueiier & qd Rarrdl & & &) Wit $a1 82

1. Guna/ T
2. Ratlam/ XddH
3. Sidhi/ gt
4. Raisen/ I



Correct Answer :-

« Ratlam/ Idd™H

44) Justice Dipak Misra has been appointed as the Chief Justice of

India./ AATAT ues RTH WRTF__ e arandi=r & wu § Frgad fear mar 21
1.46% / 469

2.44t /449

3.45t / 459

4.439/4349

Correct Answer :-

. 45t /454

45) A, B and C can complete a piece of work in 12, 24 and 36 days
respectively. A and B will together complete the same work in how many

days? / A, B 9T C {5l &9 &) $HM:12, 24 U1 36 fef A H3 TFd 8,1 A 3R B QY
frae 39 & 3 fhaq fa= & g #3?

1.4days/4ﬁ:f
2.5 days / 5 f&a
3.6 days / 6 f&A1
4.8days/8ﬁ:l

Correct Answer :-

. 8days/8fa

46) Shankar Dayal Sharma was the President of India?/ TH TS XHET
HRA P wryufd 41

1. Tenth/ G904

2. EIeventh/a’R_eﬁ
3. Eighth/ 3T&d

4. Ninth/ id

Correct Answer :-

« Ninth/ g



47) Which part of the Central Highlands does the Rewa-Panna Plateau lie

in?/ 91 AT UoR Aeaad| UgTSl AT & BiF- 9 & A R g2
1. South-western/ &fefor- GfgH

2. North-western/ JTR-UfgHt

3. South-eastern/ Gi&mr-gdf

4. North-eastern/ B?R-‘{ﬁ

Correct Answer :-

« North-eastern/ Bﬁ?-ﬂﬁf

48) Which part of Madhya Pradesh is associated with the Mahajanapada of
Avanti?/ T UeRT &1 i T & 3fddl & ATSUS A TST g3 UT?

1. Malwa/H1dd1

2. None of these/i’qﬁ@aﬁ%ﬁ
3. Baghelkhand/ SUTRaUS

4. Bundelkhand/ §cerds

Correct Answer :-

« Malwa/HIddl

49) If two times of A is equal to three times of B and also equal to four times

of C, then A:B:C is:/df¢ A TN, B & faiH 9 C & IR 71 & SR1&X §, al A:B:C FT
RRICEICER]

1.6:4:3
22.2:3:4
3.3:4:2
4.4:6:3

Correct Answer :-

e 6:4:3

50) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi‘&’r: ﬁﬁqwmﬁw$waﬁvwﬁi
a1 $o frepd fau T g1 sy AT T wy= & e AT @ YA 81 A Tdya aat | i



Udid g1d 81 | 9t sl &1 ufet fihe @ wifoe o few e el O 9 wi9-a1 ey fgu g
HYA] BT TSI U T IRV BT 8, IR TI7T 0 5 W &

Statements:/HY:

All bags are bottles./ Tt aﬁ, W%'I

All forests are bottles./ 9 Sd, Sda gl

Conclusion:/ ﬁWﬁf:

I. Some bags are forests./ Waﬁ, \‘ri'ﬂ?[?l

II. No forest is bag./ &3 57, AT TS 2l

1. If neither conclusion I nor II follows/ af& 7 FsHY I T 81 11 3IERUI HRA1 8
2. If only conclusion I follows/ af¢ dad FhY I &IENTUTWT‘IT%

3. If only conclusion II foIIows/ZIﬁWﬁEFEfII G@TUTW_CIT%

4. If either conclusion I or II follows/ Ifq ATl FHY I AT 11 TRV BT §

Correct Answer :-

. If either conclusion I or II follows/ afc a1 dl fsHY I AT 1T S{I¥RUI Al &

51) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁﬁ'-'{r: ﬁ%%qwmﬁ'wmwaﬁvwﬁi
1 $o frepd fau e g1 sy AT T Sy & I AT @ YA 81 3 Tdga aa S i
Udid gid g 1 It et @1 ufeu fibr au Fifeme f fau e faswul & F H9-a1 faeed 2w e
FY BT AHETT TU I IR0 AT 7, TS Td9d 9 $3 1 g1

Statements: /P Y:

All fruits are lions./ QT‘I-ﬁW, ‘\ﬂ'\’?l

All lions are foxes./ H*ﬁ‘«ﬁ?, Fﬂ'ﬁ'ﬁe‘.ﬂf%l

Some foxes are elephants./ $3 @fsar, g1t &
Conclusions:/ﬁ'w?ﬂf:

I. All fruits are foxes./ 9l wd, aAfSAT 2|

II. Some fruits are elephants./$9 Bd, BT??[%'I

1. Either Conclusion I or II foIIows/EITFﬁﬁEh‘GfI qr 11 &WW%
2. Neither Conclusion I nor II foIIows/:rﬁEb"EfI =r§r11 &FﬁTUTW%
3. Only Conclusion II follows/&ad FsHY 11 &HHTUTW%

4. Only Conclusion I foIIows/WﬁW‘SfI &WW%‘



Correct Answer :-
« Only Conclusion I foIIows/Wﬁ'EﬁﬁfI S@TUTW%

52) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi‘str: ﬂ%mwmﬁwﬁmeﬁ?wﬂ?
a1 $o frepd fau T €1 sy AT T Sy & I AT @ YA 8 3 Tdya aa | i
Udid gid g1 | I et @1 ufeu fibr au Fifeme f& fau e faseul & ¥ Hi9-a1 feed 2w e
HYHI BT AHTNT U J SFE HdT 8, e JawTd 9 o M &

Statements:/ PY:

No book is star./ ﬁimﬁ, T-IRTT(?I?I

Some stars are men./ $® dR, 3MGH &1

Conclusions:/ ﬁ'mﬂf:

I. Some men are books./ W\?"?'ﬂ, fpaa g1

II. No man is book./ 313 3gHl, forare T8 81

III. All men are stars./ Tt Gﬂﬂ'lﬁ, Hﬁ'?l

1. Only I follows/ ad I 38R0l HRT §

2. Only either I or II follows/ Faa AT e I TT 11 3IER0T Bl §
3. Only either II or III follows/ dd a1 al IT T 111 3FIR0T Rl §
4. None follows/®Ig IR0 Tg! Bl &

Correct Answer :-

« Only either I or II follows/ %a@ ATl I AT I SFIER0T T §

53) In which year did the British annex the state of Nagpur which also
included south-eastern Madhya Pradesh? /{3 adf # fafe=r = ARTqR Ireg &Y oo+
3refiT o o, e féror-gdf e wa=n off =nfdra ure

1. 1853
2. 1854
3.1851

4, 1852

Correct Answer :-

« 1853



54) In which district is the Fair of Ramlila held in the months of January-

February?/ mﬁlﬁﬁﬁﬁaﬁ-mﬁ%ﬁﬁmﬁ?ﬁﬁmmmﬁ?
1. Indore/ &R

2. Gwalior/ TaTferR

3. Ratlam/ XddH

4. Datia/ &faar

Correct Answer :-

. Gwalior/’EITﬁR?R

55) In which district is the Chachai Falls situated?/ IdTs Sayurd fby fora # fRd

a2

1. Gwalior/ TaTeRR

2. Chhindwara/ f5aarer
3. Satna/ gd-l

4. Rewa/ far

Correct Answer :-
« Rewa/ a1
56) In which state is the Periyar National Park?/ URUR ¥1a 32 f&w I=a & 32

1. Maharashtra/ HERTY
2. Karnataka/ PHlch

3. Kerala/W
4. Tamil Nadu/ alﬁﬂH@

Correct Answer :-

. Kerala/W



3.28
4.24

Correct Answer :-

256

58) If a: b: ¢ = 3:4:7, then the ratio (a +b+c): ¢ is equal to:ﬂTﬁ' a:b: c=3:4:7 Eﬁ, ar (a +tb+tc) : ¢ JTd
Cadl

1.14: 3

2.7 :2

3.2: 1

4.1:2

Correct Answer :-

59) A car goes 20 meters in a second. Find its speed in kmph./§d B Q'EFQW H 20 e gedl
2 IS fpdt/der ® nifa gira Fifvg|

1. 36
2.20
3. 18

4. 72

Correct Answer :-

60) If an article is sold at 5% gain instead of 5% loss the man gains Rs.5 more. Find the cost price of

that article. f TP SfRT TP 9¥g B 5% BT b TG 5% TTH W ITT 3, At 3 5 U 3w
T gl 3, O 9% BT aRTd 4o J1d Be |

1. Rs.105
2. Rs.100
3. Rs.50

4. Rs.110

Correct Answer :-

e Rs.50



61) A mixture of 30 litres contains milk and water in the ratio of 7 : 3. How much water should be
added to it so that the ratio of milk and water becomes 3 : 72/30 WX & T® fAyor & Y 3R Tt
BT 3T 7 : 3 81 g 3NR Ut T SUTd 3 : 7 T & fore ¥ faamm =it framan sme?

1. 49 litres/49 T
2. 40 litres/40 5‘“3?
3. 63 litres/63 EHE?

4, 56 litres/56 5’“3?

Correct Answer :-

o 40 litres/40 FNE?

62) A train is moving with the speed of 180 km/hr. Its speed in meters per second is:/TPh W 180

foreiireieT 91 i @ o w61 31 Swet wifar WA, # et gt
1.50
2.5
3.40

4. 30

Correct Answer :-

63) The difference between the length and breadth of a rectangle is 23 m. If its perimeter is 206 m,

then its area is:w&mﬁmﬁaﬁ?ﬁsﬁ‘ﬁzslﬂamsméwﬁsrmamtrhmmomﬂa
B, g FaT 32

1. 1520 m?/1520 Hi2
2. 2480 m?/ 2480 Hi?
3. 2420 m?%/ 2420 Hi2
4. 2520 m2/ 2520 T2
Correct Answer :-
« 2520 m?/ 2520 Hi?

64) CANCELLED
In which year did Tukoji Rao I die?/ g@IciRTa 4" &1 g g ad A g3 &2

1.1761



2. None of these/ 30 I 15 ol
3.1753

4,1757

Correct Answer :-

« 1753

65) Three of the following four are alike in certain way and so form a group.
Which is the one that does not belong to that group?/ Rt e IR faseni A A fiF
PN PR IUF IR TE Igg S 8 | 9 o & B9 91 39 9g A 81 82

1. Yajur veda/q@?ﬁ
2. Ayurveda/ &Wﬂa.?{

3. Atharva veda / 31Uyddg
4. Rig veda/ F7dq

Correct Answer :-

« Ayurveda/ 3ﬂ§a;c‘2

66) The most malleable metal is?/ JaY 3ift® Tlelt o1g B Bt 7:
1. Silver/ XsId
2. Gold/ %auf

3. Iron/ Fﬁ%T
4. Platinum/ @fesq

Correct Answer :-

« Gold/ Tuf

67) The point at which the solid, liquid and gaseous from of a substance co-
exist is called its? /g a1u fag forg R ®15 yerd 314, ava a41 A9 {4 srawut # 35 a&ar
FuauRg P e

1. Boiling point/ ®Ydi®
2. Freezing point/ IREICE
3. Melting point/TTd-i®h
4, Triple point/ Wﬁ-_@,

Correct Answer :-



« Triple point/ %ﬁ-‘g{,

68) City B is 3 meters north of City A. City C is 3 meters west of City B. City D
is 5 meters south of City C. City E is 7 meters east of City D. In which of the
following directions is City E, with reference to City B?/ Rg¥ B, RgX A FIWA
3 WX WIRGC, MG B HUFAH 3 WX W1 S D, @R C H Sfyur & 5 Hiex R |
RMEXE, G D H Yd § 7 Wex W 81 @R B & TTve, e E by fozm & ghme?

1. East/ Uﬁ
2. South-east/ E{f\&FUTq\Ef
3. North-east/ B?Rtlj

4. South/ e

Correct Answer :-
« South-east/ Tf&ur.gd

69) By what process is heat transmitted from the filament of an evacuated
electric bulb to the glass? & Y&R fAUgd 9ea & 3ige T aTel dvg D1 ST @ A
T 3Te &

1. Convection/ ddgd
2. Radiation/ fafaRur
3. Conduction/ dTdd

4. Heat cannot be transmitted through vacuum/ 31 fafa & Tamia 78! g gaucit

Correct Answer :-

. Radiation/ fafeuor

70) Who coined the term ‘systematics’?/ & “"RrcAfes” g &1 ufdure fear
YT?

1. Linnaeus/ fafag
2. Huxley/ 889d

3. Lamarck/ THTS
4. Darwin / gifdq

Correct Answer :-

« Linnaeus/ fafag



71) A horse pulling a tonga moves forward due to the force exerted by?/ T®

°IST aivl 1 S fRarger § fored aiv om sgar § 59 90 & R

1. The horse on the ground with his feet/ ‘Eﬂ@_ﬁaﬁﬁ YR TR S 9 ST
2. The horse on the tonga/ Gﬁ‘aﬁé%aﬁww

3. The ground on the horse’s feet/ WW@%%%WWW%

4. The tonga on the horse/ difl §RT OIS U= TIET 14T 5

Correct Answer :-

« The horse on the ground with his feet/ *aﬁic}%ra?‘rﬁ ¢RIt TR Sl § T

72) Conversion of excess amino acid into urea takes place in?/3if%@ 3t

3l 1 g § ufvad wgl giar &:
1. Skin/ dl

2. Intestine/ 31

3. Kidney/ da

4, Liver/ g&d

Correct Answer :-

« Liver/ d&d

73) DIRECTIONS: From the given alternative words, select the word which
cannot be formed using the letters of the given word./ fAdar: fAufeRag faweal &
Y 98 Usg gfa o) AT 7T 215 & 31eRY 71 T Hb A8l a1 S Pl &-

CONSTITUTIONAL
1. TALENT

2. LOCATION

3. CONSULT

4. TUTION

Correct Answer :-

« TALENT

74) DIRECTIONS: Study the following figures and find out the number
opposite to 2./ fA3=1: f=1 apfa #) ue 8k 2 & faudia s &1 319 B3



D&

1.4

2.5
3.1

4.6

Correct Answer :-

75) DIRECTIONS: Study the following information and answer the questions

given:/fdzm: & 8 @R @1 eyd® ue ok e few e u=Al & SwR &

Seven people - A, B, C, D, E, F and G are sitting in a circle. Five of them are
facing the centre while two of them are facing opposite to the centre. C sits
third to the left of D and both are facing the centre. E is neither an
immediate neighbour of D nor of C. The one sitting exactly between D and F
is facing opposite to the centre. G sits third to the right of A and G is facing
the centre. One of B's neighbour is facing opposite to the centre./9Td & -A,
B, C, D, E, F 31¥ G T®% g« & dRI 3R 33 &1 379 A U4, 5 o1 3R T frd gu g wafe
B3 4l g B faudid fexn A ik g@ fFA e d1 ¢, D F T A AW VM W I51 8 3R Y
FE D AR GEBAZURIE, TN D T8 C FT wecaa USRIt I T TH A D 3R F & 3P
A A 93T 8, STBT W &5 o! fAuia R F1 iR 81 G, A F T A TN UM W AT 3R
G &= #1 3R TW fHA gU B | B &1 Uw USil, s ot faudia fezn ot sik g frd gu gl

Which of the following pair represents persons, facing opposite to the

centre?/f= U & 34 O1 g $% & fIudia ik g@ fu gu safaal &1 velia swarg?
1.E, F

2.AF

3. Cannot be determined/3Td -Tg! fobadT T bl

4.A, E

Correct Answer :-

76) DIRECTIONS: Arrange the following in a logical order:/ fAd=r: ﬁ'l:l?ﬁt{iﬁ
3rfquf o o syafR@ #e |

(i) Collector/ foramsfi=r

(ii) Governor/ ISAUTd



(iii) Chief Secretary/ &I dfuq
(iv) President/ rsgufa

(v) Clerk/ 3%

1. (v), (i), (iii), (ii), (iv)

2. (v), (i), (iii), (iv), (ii)

3. (v), (i), (iv), (iii), (i)

4. (i), (i), (ii), (iv), (v)

Correct Answer :-

 (v), (i), (iii), (i), (iv)

77) If you walk toward a plane mirror at a speed of 10 cm/s, at what speed

does your image approach you?/ Ife 3y frfl gwda guur #1 3 103 ufa AFs
31 7fa A s T8 99 3yt ufafds fory wfa & emuss Uy mawm:

1. 20 cm/s/ 20 JHufd Jbs

2. Information inadequate/ WH@%
3.5 cm/s/ 5 YHIUd Ybs

4.10 cm/s/ 10 YA Vb

Correct Answer :-

. 20 cm/s/ 20 IHfd Ybe

78) An antipyretic is a drug that?/ T® Tdursifes iuf¥ gl & =ii-
1.Is used in viral attacks/ fqST0] & TehHUI & SR foran Sirar §

2. Raises body temperature/ IRR %Waﬁm%

3. Lowers body temperature/ YRR & YA DI HH BT &

4. Kills infection, TshHUT &l ARG &

Correct Answer :-
. Lowers body temperature/ YRR & dUH B! HH B! &

79) The best material for casting foot-print marks in sand is?/ﬂTﬁﬁch’fﬁE
T & fore e Iugad uerd i a1 §:

1. Sulphur/ deth
2. Molten lead/ ﬁﬂ?ﬂ@’&ﬂ@g



3. Plaster of paris/ WReX 3 U9
4. Paraffin wax/ IRWIH HIH

Correct Answer :-

« Paraffin wax/ TR®IH AIH

80) Cotton fibre is obtained from the?/$URI d+ f&ud I9TC 9T :
1. Root/SIS

2. Seed/ ©idl

3. Leaf/ ufear

4, Stem/ RM9

Correct Answer :-

. Seed/ &

81) Pollination by birds is called?/ u&ﬁmﬁﬁwmﬁm%
1. Entomophily/ TeiaIthal

2. Hydrophily/ grgsifthat

3. Arnithophily/ RIER |

4. Anemophily/ THIeT

Correct Answer :-

« Arnithophily/ 3ifHifthelt

82) The polio virus enters the body through?/ Giferat &1 faum Tk & &9 yawr
AT E?

1. Contaminated food and water/ WWE o 9

2. Tick bites/ S & Hled

3. Saliva and secretion from the nose/ ATRIT I W1Tad 814 aTel AR 3 G
4. Mosquito bites/ TR & Ppled

Correct Answer :-

. Contaminated food and water/ Ugfi¥d & g 1o 9

83) Emeralds are made up of?/ U1 f»T®1 a1 a1 82



1. Carbon/ &Ta-

2. Gold/ &t

3. Beryllium/ SRferad
4. Silica/ fferet

Correct Answer :-

« Beryllium/ aRfaam

84) Which of the following fungi has been extensively used for genetical

studies?/ A9 & A B A Had $ WIS TIAiRE iU § SUNT fo5ar wrar 872
1. Pink bread mold/ TdTs! si€ dice

2. Bread mold/ 8 HItg

3. Mushroom/ HR=H

4. Green mold/ Wﬁ?&'

Correct Answer :-

« Pink bread mold/ TTdl 5€ Alce

85) Raghu and Babu are twins. Babu'’s sister is Reema. Reema’s husband is
Rajan. Raghu’s mother is Lakshmi. Lakshmi husband is Rajesh. How is
Rajesh related to Rajan?/ Y R I JsaT 3 | Ag Bl dgaarg | S w1 ufaIe-3
| Tg Y AT @esft § | a&ht o1 ufa Io | IO BT I A T R @ ?

1. Son-in-law/<qHIq
2. Father-in-law/3d3x
3. Cousin/& o

4. Uncle/3idhd

Correct Answer :-

« Father-in-law/3d3x

86) Soniya travelled straight from a point A to B a distance of 12 km. She
turned right and travelled 8 km and reached point C. From that point she
took right turn and travelled 6 km and reached at point D. How far is she

away from the starting point?/ ?Fﬁﬁ'CIT, Qﬂiﬁr_gA AB dF 12 %.ﬁ.aﬁg'&%ﬁﬁa'q
FRdl g1 T8 ST eI 8 fF ). gacdt g sk farg c I ugaedi g1 SUfag c Aqlu gsae 6
.1t gt 8 ok farg D 9@ ugad 81 98 oA TRA® fag A frai gt w82

1. 14 km/ 14 f& .



2.12 km/ 12 . #).
3.10 km/ 10 & #i.
4.13 km/ 13 fo .

Correct Answer :-

« 10 km/ 10 f& .

87) What is responsible for diphtheria and influenza?/ g & @i feudifar aur
SURIUST & fore SeRer §:

1. Bacteria/ SiidT]
2. Bacteria and virus respectively/ $hHR: Siary] 9 fawTo]
3. Virus and bacteria respectively/ mzﬁwa\—rﬂmq

4. Water pollution/ S¢f UgWUT

Correct Answer :-

. Bacteria and virus respectively/ SHHI: SIdT0] d fauTy]
88) The largest bird is?/ Wa@q&ﬁ%}

1. Elephant bird/ el

2. Albatross/ Qc_claﬂ

3. Ostrich/ ﬁ&iﬂ

4. Cassowary/ BRI

Correct Answer :-

. Ostrich/ 3T

89) Which among the following causes Hydrophobia ultimately? [fFad FRUI

FTsSIwifean Xfew) far gidt 32
1. A bacteria /I A7
2. A protozoa W@ﬂ\_{l&ﬂ

3. A worm/Ue JbR & HIel(PIc)

4. A virus /T fauTq]

Correct Answer :-

e A virus /U fauTy]



90) The antibiotic penicillin is obtained from?/ ufeeifae ffafer frad v &t
Tt 82

1. A bacterium/ W\_rﬁ?ﬂﬂl

2. Virus-infected cells/ TSmO Sehord iR
3. Fungus/&dadh

4. Synthetic drug/ ?TQ@H%THS‘T

Correct Answer :-

« Fungus/&dad

91) How many rectangles are formed in the figure given below?/ I & 1E

3Tpfa # fpaa smua a1 82

11 ]

1.13
2.9
3. 11

4.12

Correct Answer :-

92) A dentist’s mirror is a?/U® gafafdhea® HI- AT GUUT BT SUANT HdT &
1. Convex mirror/ 3qd gUul

2. Cylindrical mirror/ ENEICREALY

3. Plane mirror/ JHdd gyur

4. Concave mirror/ 3aad gyur

Correct Answer :-

« Concave mirror/ GHFIFTE{QCUT



The nearest star (other than the sun), which is visible to the naked eye is?/

e ¥ Qo 91 arT (G & Srarar) 79 e ¥ 3t avE | fews Tar d:
1. Pole star/ {d dRT

2. Proxima century/ Wifeqar 9ot

3. Alpha century/ W@ﬂﬁ

4. Vega/ am

Correct Answer :-

» Alpha century/ W@ﬁ

94) Palaeontology is the study of?/ UdcIalol fHAPT 3eaa T 8:
1. Bones/ 3ifRuar

2. Primates/ UIsHc

3. Fossils/ Sita=y

4. Birds/ Uil

Correct Answer :-

. Fossils/ Siiar=d

95) We get energy directly from?/ g¥ f&ad W9 Suif ure 34 &:
1. Ocean/ HENIMR

2. The sun/ ﬁqc

3. Space/ 3=iRe&

4. Atmosphere/ agHSA

Correct Answer :-

e The sun/ 3\1&

96) Stars appear to move from east to west because the?/ dR Td ¥ Uf3@ &t 3R

1. Whole universe is moving from east to west/ wmuﬁﬁu@nw%
2. Earth is rotating from west to east/ Gl U3 ¥ d guH &Rl §

3. Earth is revolving around the sun/ qwﬁaﬁ%aﬁf 3R TFH A &

4, The universe is rotating from west to east/ WWU@?@[%‘W%



Correct Answer :-

« Earth is rotating from west to east/ qﬁﬁwﬁuﬁwﬁaﬂ?ﬁ%

97) A medicinal substance given against the intake of poisons or to prevent a

disease from having an effect is known as an?/ ﬁmmﬁﬂ?ﬂmﬁ%mﬁq
W & 91 91 IS 91¢ 314 el SR Y Ab4 & forg fam wiran 2:

1. Antibody/ Tars
2. Antibiotic/ Ufawifas

3. Antidote/ UCISIC
4. Antigen/ PIRSE

Correct Answer :-

« Antidote/ TdISle

98) The compound dissolved in water to give a solution of pH lower than

seven is?/ﬁ?ﬁﬁﬁqﬁ?ﬂﬁﬁfﬁﬁlﬁﬁmw 73 HH pH M
1. Common salt/ dTYRU THD

2. Vinegar/ RRa1

3. Sugar/ HIT

4. Ethanol/ Eﬁﬁ

Correct Answer :-

» Vinegar/ 1

99) If AABC is an isosceles triangle with 2c=90° and AC = 5 cm then AB is: /af& AABC TH
Tufgarg Ays 8,"rI®1 ST 2c=90° 3R AC = 5 Tl 8, @ AB 1@ H9|

1.5 cm/ 5 99
2. 2.5 cm/2.5 99

3. 10 cm/ 10 T
B B
4.5V2 cmy5V 2 At

Correct Answer :-



The length of a rectangular hall is 5 m more than its breadth. The area of the hall is 750 m2. The

length of the hall is: /fFd SMAATPR g1 B TaTs ITD! ASTs | 5 Hiew 3w g1 gTd &1 &7%d 750
2 31 gTd &) aaTs 91 B |

1.15 m/15 #Y.
2.25 m/25 H.
3.22.5 m/22.5 HI.

4.30 m/30 Ht

Correct Answer :-

« 30 m/30 #



